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1. The solid has 1 face on the bottom, 1 face on the top, and
4 faces on the sides. The faces intersect at 12 different
line segments. The edges intersect at 8 different points.

So, the solid has 6 faces, 12 edges, and 8 vertices.

2. The solid has 1 face on the bottom and 5 faces on the

sides. The faces intersect at 10 different line segments.
The edges intersect at 6 different points.

So, the solid has 6 faces, 10 edges, and 6 vertices.
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5. Use a net to find the area of each face.
lop: 72 =14
Bottom: 7 « 2 = 14
Front: 7 ¢« 4 = 28
Back: 7 e 4 = 28

Side: 2 e 4 = 8§
Side: 2 e 4 =8

7in

2 in.

t
2in. i 2in. 7in.
sicle back side front 4in.

bottam

Surface = Area + Area + Area + Area + Area + Area

Area ol of ol ol of a ol a

top bottom front back side @ side

S =14 + 14 + 28 + 28 4+ 8 + B
= 100

So, the surface arca 1s 100 square inches.
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6. Usc a net to find the arca of cach face.
Top: 7.5 ¢ 5 =375
Botlom: 7.5 ¢ 5 = 37.3
Front: 7.5 e« 4 = 3()
Back: 7.5 ¢« 4 = 30
Side: 5« 4 = 20

Side: 5 4 = 20
7.5t
top 5 ft
5 ft Lt 75t
side back sice front 4 ft
bottom

Surface = Area + Area + Area + Area + Area + Area

Area of of of of ofa ofa

lop bollom [ront back side side

S =375+ 375 + 30 + 30 + 20 + 20
= 175

So, the surface area is 175 square feet.
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7. Use a net to find the area of each face.
lop:6 e 9 = 54 Bottom: 6 ¢ 9 = 34

] ]
Front: 6 e 4E = 27 Back: 6 e 45 = 27

. 1 . 1 _
Side: O e 4; = 40.5 Side: O e 45 = 40.5
& m
top 9m
9m 9m & m
side front side baclk 4; m
bottom

Surface = Area + Area + Area + Area + Area + Area

Area of of of of ofa ofa
top bottom  front back side side
S =5 + 54 + 27 + 27 + 405 +405

= 243

S0, the surface area 15 243 meters.
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8. Usc a net to find the arca of each face.

Front: % e 8015 =060

s

Back: %-8-15 = 60

Bottom: 7 ¢ 8 = 30
Side: 717 =119
Side: 7 15 =105

side 17 em

15 cm
side 17 cm
back front
' ]
Zem
bottom | 8 cm
Jocm
Surface = Area + Area + Area + Area + Area
Area of of of of a of a
bottom  front back side side
S = 5 + 060 + o0 + 119 + 103

= 400

So, the surface area 1s 400 square centimeters.
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9. Use a net to tind the area of each face.

Top:l-'}tilzii
2

Bottom: % eJed =06

e

Tront: 5 ¢ 8 = 40
Side: 3«8 = 24

_ Iim dm
Side: 4 ¢ 8 = 32 3Im top 4 m
Lm
side front sicle &m
bottom

Surface = Area + Area  + Area + Area + Area

Area of of of ofa ofa

top bottom front side side

S =6 + 6 + 40 + 24 + 32
= 108

So, the surface area is 108 square meters.
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10. UJse a net to find the area of ecach face.
Bottom: 8 ¢ 5 = 40

Front:l-(}-riz].i Back:l-6-5:15
2 2

Side: 8§ ¢ 6.5 = 32 Side: 8 ¢ 6.5 = 32

back 6 ft
-
side bottom side aft
K ft
6.5 ft u 6.5 ft
front 6 ft

Surface = Area  + Area + Area + Area + Area

Area of of of ofa ofa
bottom  front back side side

S = 40 + 15 + 15 + 52 + 52
= 174

So, the surtace arca 18 174 square teet.
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11. Use a net to find the area of each face.

Bottom: 2 « 2 = 4

Side:l-2-3=3
2

Side; — o2 03 =

Lad

o) e 3 =73

I
2
Side: l
2

side

2in. 3in.

side |2in. |-
bottom | Sie

side

Surface = Area + Area + Area + Area + Area
Artea of of a of a ofa ofa
bottom  side side side  side

E ) -4

S = 4 4+ 3 4+ 3 + 3 4+ 3
= 16

S0, the surface area 18 16 square inches.

https://static.bigideasmath.com/protected/content/dc_ca/apt/apt.html

8/11



5/16/2017

Answer Presentation Tool

12. Use a net to find the area of each face.

Bottom: % + 3069 =276

Side: e 8 ell) =40

o | —

Side: — e 810 = 40

1
2

Side: é- e l() =40

Surface = Area + Areca + Area + Area

Arca of of a of a of a

botlom  side s1de side

S = 276 + 40 + 40 + 40
= 147.6

So, the surface area 1s 147.6 square meters.
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13. Use a net to ind the area of each face.
Bottom: 7 e 7 = 49

Side: % e /el =329

_ ]
Side: E e 7e04 =320

Side: % e /094 =329

Side: % o704 =329

side
7 cm 9.4 em
side 7ecm —I_
bottam side
side

Surface = Area 4+ Area + Area + Area + Area

Artea of of a of a ofa ofa
bottom  side side side side
S = 49 4+ 329 4+ 329 + 329+ 329

= 180.6

So, the surface area 1s 180.6 square centimeters.
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14. V = twh

-305)

@, orsd

So, the volume 1s 5 cubic feet.

15. V = fwh

00

22 11
= —, Or —
36 18

So, the volume 1s % cubic feet.
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